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Historical Note

The ancient Indian mathematicians knew about the coefficients in the expansions of
(x +»)? 0 < n < 7. The arrangement of these coefficients was in the form of a diagram called
Meru-Prastara, provided by Pingla in his book Chhanda shastra (200B.C.). This triangular arrangement is
also found in the work of Chinese mathematician Chu-shi-kie in 1303. The term binomial coefficients was
first introduced by the German mathematician, Michael Stipel (1486-1567) in approximately 1544. Bombelli
(1572) also gave the coefficients in the expansion of (a + )" forn=1,2 ...,7 and Oughtred (1631) gave them
for n = 1, 2,..., 10. The arithmetic triangle, popularly known as Pascal’s triangle and similar to the
Meru-Prastara of Pingla was constructed by the French mathematician Blaise Pascal (1623-1662) in 1665.

The present form of the binomial theorem for integral values of n appeared in Trate du triange
arithmetic, written by Pascal and published posthumously in 1665.
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gd, %L ANRITR A8l @, ar, @, ..., AHL ARITR 7 [FRUS Y&t 1 5l 29 Sl dl,

_a(l—r”)_ a ar”

1-r) 1-r 1-r

n
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1

<=

1
z
=c" =k

B3 : LS a¥= b
UL, a=kX, b =k wdc =k (D)
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@ %L 20U AR{HE SLSURL wesdl defl 2010l 9LAdR Ue AL IRl AL €l dl d ARl AH2RITR 2lell
sAUA. L AHAN [FHd AU OLRITR S8, A D AHRIR ARl Uad Ue @ A AL
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Historical Note

Evidence is found that Babylonians, some 4000 years ago, knew of arithmetic and geometric sequences.
According to Boethius (510), arithmetic and geometric sequences were known to early Greek writers. Among
the Indian mathematician, Aryabhatta (476) was the first to give the formula for the sum of squares and cubes
of natural numbers in his famous work Aryabhatiyam, written around 499. He also gave the formula for
finding the sum to » terms of an arithmetic sequence starting with p® term. Noted Indian mathematicians
Brahmgupta (598), Mahavira (850) and Bhaskara (1114-1185) also considered the sum of squares and cubes.
Another specific type of sequence having important applications in mathematics, called Fibonacci sequence,
was discovered by Italian mathematician L.eonardo Fibonacci (1170-1250). Seventeenth century witnessed
the classification of series into specific forms. In 1671 James Gregory used the term infinite series in connection
with infinite sequence. It was only through the rigorous development of algebraic and set theoretic tools that
the concepts related to sequence and series could be formulated suitably.
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* Geometry, as a logical system, is a means and even the most powerful
means to make children feel the strength of the human spirit that is
of their own spirit. — H. FREUDENTHAL %
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2§14, o = B. d¥l tan o, = tan B. \

NN

“m =m, 2d & d¥HHL 2Ll AHLA €.

7z

N ~\ NN

efl, Gletg, HIRL 5 6L Lol [ 24 [ <l 6loL ARvL . Hed 5 m =m,

tan o. = tan P 0

tan [A8Y-L @194 WHIEl o =B (o0 caL B i 0° @l 180° a2),
e 25(d 10.4
T IRERTON

214, (260 1l €14 ddl 6 vl AHIdR Slald]l 214945 A YAld A 2 & 3 A G HHI Al
gd ol UL 7 2 1, uUR det €l (gld 10.5), dL B = o + 90°.

1
tan o

. tan B = tan (0. +90°)=—cot 0. = ~

. 1

»2d & m,= " wudlm m, =-1
ml 1 2

ell, Qg Wl m m, = — 1, dltan oo tan f=— 1.

s tan o =—cot B = tan (P + 90°) 24 tan (f — 90°)

.. oA B el dstad 90° €9,

2usld 105

el JuUAL 1 2 1 YRR ot B,

24, [QRde 4 G4 ddl 6 vul YR dol @il qs A YAl Ukd ¥ 9 3 dH-l e
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21 56{1%111 89 A2 SlY.

m2=—1.

1
MM, m= —— HAdl, m,

m

s, Al GeleWBliA AHDA.

BELSBL 1 & JudldL 2101 4.
(a) (3,—2) 2 (=1, 4) nigl AR udl,
(b)  (3,—2) 2 (7, — 2) igl AR udl,
(©) (3,—2) >4 (3, 4) Higl AR adl,

(d)  x-2a-il 4 [Ba 013 60°<L Il otsadl.

B34 @ (a) (3,—2) 2 (= 1, 4) isll vz adl 2uusdl s

-2 _6 _ 3
~1-3 -4 2

(b) (3,—2) 2 (7, —2) Higl uAIR Udl vl el

-2-(-2) O
7-3 4

N , N 4-(=2) _6
(c) (3,=2) 11 (3, 4) il vAR Adl AL el m = 3.3 = 0 el Al
(d) 2], vl s o = 60°.
adl, -l el m = tan 60° = /3 .

N2 N\ AN N\
10.2.3 6L 00 AL Rl
UlY A5 AUAAUL Al s sl a8 UL [BAR 53 AR o URUR AHIAR 14 AL YRR Bedl

AL LS A3, 2], UL 6L v AL BRIAL ddelL el Aesl [ s

NN

QL 5 L, 2 L, [Rleor vzl Al disdl glon stdsd m, 2 m, 9.

N N N

QRL 5 JeUll U dot el 20l mm, £ -1, % d URUR dol €l dl ddsll 9l bRl 900l SId.
¢d, %l L, 2 L) Al 9ls absi o @i o, €14, dl
m;=tan o, e m,=tan Q,.

N oA ~

R Rlla a5 w6l vl Hsellood 98 AR 9elbig o0 w530 sl o s a1y
€. dui 6l ulAULAAL VRIAL MUl YA 180° €. HIRL 5 vl L 2 L il 9elbig t1o10L oirdl
UIRAUIAAL WRUL § 4 ¢ 9. (sl 10.6).

0=o,— o, 2 o, o, #90°

tan o, —tan o, m, —m,

“ tan 6 = tan (0, — O) = (521 % 1 + mm,# 0)

I+tan o tan o, 1+ mm,
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24 o= 180°—0

_ o _ __mmmy 3
2l tan d=tan (180° -0 )=—tan = ———— 518 5 | +mm,# 0
1+mm,
Y L,
A L,
0
¢
a, )
A 4
. »ugld 10.6

84, o [aseilr [Muie iy 8.

A\ m2_m1 Y at N N NN N N\ N \ N
[Aseut o Tomm, A€l dlzan © Het »isd fan ¢ 8L A9 d-il el 2 5 0 4y5IRL A ¢ LS8 .
17742

N m,—m ~ ~ A NN A ~ ~ ~ ~
[Asew 11 o L, 2L S0, L zan © 8L 24 ran ¢ 4ot A, -l i @ 23518 2t ¢ @agdieL el
17782
S, 60U L 2 L, vl 6L0L S sH m i m, Sl 2 ddsl il dg s WY 6 €l dl,

nmy,—m,;

tan 6 :‘ (518 5 14+ mm,#0)...(1)

1+ mm,
ARSI ¢ L HU ¢ =180°— 6 il Gualal 53| Haell as.

NN A

SN ~ N R T o N, ~ 1 A ~ a ~ NN
BELSL 2 = 6 Al 423AxL LRI HIM 1 Sl 2 d uslHl 205 -l el 5 S, dl 6fl2 AL el ALk

Gia & Reuall 4zl qa o Hu 6 i A A4l 210 m 2 m, 1, L

m, —m
tan®=| —=——L
‘ 14+mm, - (1)
N B N
é,ct,ml—E,m2—m2»{~1 G—Z.
gd, 2L (Budiq (1) ¥l 3sdl,
1 1
n Y m—E
tan —= 2 yed § 1=
4 1 1
1+—m I+—-m
2 2
1 1
m-—-— m—E
I TRIEDIR 2 -1 yma =-1

1+l m 1+i m . %{lér[a 10.7
2 2
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1
om=3 vl m=—§.

2 N 1 N N . N A
2, oflow il 4l 3 Al —5 Y4, %{Lfg[(\'l 10.7 61 %dlot, 5181 s2ld €9,

BELSRBL 3 1 (<2, 6) AUl (4, 8) Bigiiniall 1R Udl 21l 247 (8, 12) 2t (x, 24) [Biginial uaR adl 3wl uuR

dol €, ol x <l (Bud ekl

B3A : (2, 6) 21 (4, 8) igll uR aAdl Iviisl sl

_ 8-6

_2.1
6 3

(8, 12) 24 (x, 24) Migll uAIR Adl vl gl

C24-12 12

x—38 x—8

m,

B 6] WD, YU ol €9,

12 N NN
=-1 2ed § x=4.
x—8

1

—X

3
10.2.4 AR (g2l auuidl

YRL R 91 § 61 HHIAR VUL 210 UM Y

N 2 NN

€l 9. ¢d A AHLA gladloll ol vl s % [signial

YAR Adl &ld dl 2939 % d vl Auld]l @i, el

AHdd XYHL 2Aua 218l [Blgtl A, B 2 C Hie ol vl AB -l 4101 = BC -l 2l

AB Al a1l =30l BC il al9 &1d dl 24, dl % L (Bl il

P >X
R <o r e
AHAYL YLy, A

4

GelsaBL 4 19 P (h k), Q (x, ») ¥l R (x, »,) 22 »us( 108

AU [Gle il 1, dl AUleid $20 5
(h=x) =) = (k-y) (x,—x)
B3 @ 21d], P, Q 2nl R Au3vt Bigail &, dell,

yl_k

N N Y™ N
PQ il 4l9 = QR il ala, 1] R —

X4

k_ylzyz_yl
h—x — x,—x~°

2YqL
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AUl (h—x) (v, —y) =(k—-y) (x,—x).
Gelg2m 5 ¢ sl 10.9 i 3l oAl AHU 2 AL
MIAVL A 9. AHU e ldR+AL 6L @I, U2 T = 0 AR

D=2 %42 T=3 U D=8 21ud €. dl ali-l Guuiol

2id2 (D)

530 auldAl [uy Hadl. 22d & vld 2L Ay U 58 3d 2AH1Rd

NN

€9 d oldldl.

\( . Y N2 s N N Y N N < z > X
B5A :wRL 3 (T, D) 1 vl U A6 Big 8. T AHA 2id2 o], L (T)
D 6. 2, [Big>ll (0, 2), (3, 8) il (T, D) Ax2vt a4l 2u5ld 10.9
g:D__g »ydl  6(T-3)=3(D-98)
3-0 T-3

MYdl D=2(T + 1), A doi4 9.

Ry 10.1

N eA ~

1. M-AUddHL (=4, 5), (0,7), (5,—5) A (— 4, —2) [R1[6ig 2010l A58l el2L 2 df, @olsa AlAl.

)

S S S

2. wis Auelly Bisieidl Uil y-21g u Adl Ad didell 9 5 dd Helbiy Gloilbiy 9. 2L AHoUY
Brsiaie{l iy 2a Sld, dl d-l RG> QL.

3. %UIR (i) PQ, y-»lell dHidR €ld (ii) PQ, x-2Azi- AMIdR ¢ld IR [Bigyll P (x, y) 21 Q (x, »,)
Q22 id2 Ml

4. (7,6) e (3, 4) ol AuIA 2id LU e x-2t8 U+ (Bl 2kl

5. P(0,—4) > B (8, 0) 2 sl Jutlvigl Heulolg 2 Qarmfbiguizl wair adl vl alo 2kl

6. ULMALNRAUAL UHUAL BUAIAL sUl 901 oididl § (4, 4), (3, 5) 2 (=1, —1) s1es181 [Lsie-l
(1leig 2l 9.

7. s 3ul y- el 4d o il alaieel siziel [ Rami 307 AL weil dd, di d vl gl
UL,

8. ol [bleil (x, — 1), (2,1) 1 (4, 5) AHv &ld, dl x <l (BHd 2liHl.

9. da Yolwil GUULAL sAL QAR oldldl 3 (= 2, — 1), (4, 0), (3, 3) A (=3, 2) A1 A58l
(R1fsig 2l 9.

10, (3,-1) 2 (4,-2) < A4l 3ull Al x-2480 AL BRI, MW LML

1

11, % 6l 3uliL d2al-l WRILd “IY o $ld i tan o = 3 gl e 6 el WL 215 vl el ofley

AL 2L Sl 6L ARLL S1A dl d 6L 3L 2L0L 2ALHLL
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12. 28 vl (x, p) 2 (2 kHHIEl YA i 9. %l 2l AUl 610 mo el dl, wlid $2005

k—y,=m(h-x).

S

N R N N N Y NN = NS a
13. o AL [Blgil (A, 0), (a, b) i (0, k) 28 1L U UL iy, dl ALleid s 5 Z+; =1,

14, adl 244 2old -l 318 2udv {12 (205 10.10)H1 20 ©. 3vL AB ~iL aloL 2141l 244 d~il Gudial

NN

53 av 201040 aud] Sedl <9 d 2kl

(1995, 97)

audl (s34l

o
[\*]

(1985, 92)

>

1985 1990 1995 2000 2005 2010
an

AN \
(> 2]
o 3
/ 4

25d 10.10

10.3 vl n¥ls@i [y :a3u
wusl wllal 1ol 5 Axdaul 2iddl e2s vl U 2AvA [Blgall Sl ©. vl i (bl qal-l Aoeid
wuBLA 12l AHRULAL B5a HoddlHl Hee3u 29,

2Rl g 56 Ad sl AslA 5 vld [Big 2 2UUe 0L UR 9 7 L UAAL B 2 &l AS § Ul

N e

(Blgrl vl U glal 200l [H3d Aol slld ¢1d dl 56l As 1R S P (x, p) 21 XY-AHdAHL 2Alde A s

~

(Big €9 2 Lol 518 24Ul 01 69, ¢d L AL 215200 312 2Rl 2is 2 [ § 2d-{l -l 502 & %

(g P, 3utl LU 14 dl o A A1, A dl A 21, wIvR UL Qs A x 2 y Ui 21s 6lys aslse 9.

-~

gd, UL vl AHlseinl [alfay azui-l 2l 59,
10.3.1 Aulfay 211 [QRidn vul

A A1l ol L2 x-28ell g 254 2idR dd] Sld dl del wsl i [Blgpiidl y - g a4l —a 9.

~

[2sld 1011 ()] dell 2o L a5 y = a28dl y = —a. & 4 5 00 ¢al d vl Rald Gu 2ed & d

NN N e

x-ugedl GUR B % A d U [MelR 52 9 d o wMIEl BRI vl L o1 y-2aell b 2154 2d dd €1 dl de

Do

Alsw x = b uAdlx = — b A [2usld 10.11(b)].
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Y
)(\ L N L
) y=a R A A
. xzb_b -2
c..D 5 x=b
X' € : >X X'€ >X
a.
: y=-a
< + > L
v v
v v
Y Y
a b
(@) s2ugld 10.11 ®)
x=-2 ,Y;
A
N N NN N a N o Z >
BELERBL 6 ¢ (— 2, )il ualR adl 2 el AHIdR JuUiLnAl S 2,3 y=3 "
Axls2eL qadl,
- ~ ~ o N . £ =
B5A : wusll 101240 3vuaildl R ddidd . x-»ad Adid? X< J 0 >X
2 . . AN o N . N \4
Al UL A [Bgdildl p-ai 3 69, UM, x-DhEd AHIdR Ve Y’
(— 2, 3)niell v adl vud uHlser y =3 9. d % Ad p-tad 2usld 10.12
AUIAR 2 (- 2, 3) Hiell uA1R adl vud s x =2 9.
. Y
10.3.2 @{é—élfﬂ AJYU (Point-slope form) N

WL 5 P (x, y,) 2 [R1del A €ld ddl v L uadd 2ts

=

g 6. d L 3L m 89, HIRL S P (x, ¥) L 3vdl U SIS
(g € (2gla 10.13). el sl carvar uael v

L Al ala,

> vl2d &
y=y,=m(x-x;) (1)
ull, [6ig P, (x,, y,) 4Bl vl Us [Blg (x, )
Ae A58 (1) AHEA 52 6 A AHdA] 20 518
(Blg, (1) <L A8 s, el dell 43520 (1) ddani el

il L, wsdlsrel .

~

214, % P(x, ) a5 ¥ — Yo =m(x— x)*lQ{Hl'C{HS dl

A, m ALl 0 U 1A,

Py(xs 30

25l 10.13

A dl o [Blg (x, y) 2 (Ml [Big (x, ) Hiel waiR adl
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BelRRL 7 : B (— 2, 3) Hiall w2 aAdl A -l 2101 — 4 S dell vt {1501 2l
B3 = 2], m = —4 244 2uda Big (v, y) = (-2, 3).

21, [Blg-elon a3l Guasdy Jui-l 13ls2 (1) urall Hidla v adlsa

y—3=—4(x+2)dl 4x +y + 5 =0, Hidle vl Y
. A L
A5 69
10.3.3 & Big-2a34 (Two Point form) P: (%)
N N N P(x,y)
8121 5 vl Lol [Bigatl P(x, »,) 2 P(x,, »,) \
Wil uAR 2L B, ®AL S P (v, y) M L L Uz 618 Q\wa\
upt [Blg ¢ (Gugl 10.14). < >X
)2 0o
o0l [Bigail P, P 24 P Au2u 6, ddll, ¥
. A 2054 10.14
PPl ¢l = PPl 4l
y_)’1=)’2_y1’ Yl y—y1=y2_y1(x—x1)- .. (2)
X—X X2 — X X2 — X

aafl (x,, ;) weL AL (2) < AHHLA 52 8. AMdad s1ouRL [big A5 (2) 4 AMHA 52 dl d WL L UR €A
UM, (x,, ¥,) 2 (v, ) BlgiHiel uaur adl v wdls2el

Y=y
y—y ==

(x—x)
X277 X1

BElRRL 8 = Bigail (1, —1) 27 (3, 5) niall w2 adl Juu- wxls2el Aadl,
Gsa :Q»lé,'lxl = l,y1 =_ 1,x2=3 Ay, =35
il GurHL o [big, 2azudl wlsa (2) udl,
5-(-1)
)= (-1
y-n= 256
o= 3x+y+4=0 uidla u{lsel 9.

10.3.4 2l0-2id i3 I (Slope-intercept Form)

515 auid 2uRld il MRl 2101 2 d-l 515 s 28 X
Ul s glrl il gld, dl i azudt el v L
M50 241u8L AL, .0

m )
N3 2 = ~ NN ~ < Nn W\
[Aseu 1: A 33w L Al el m® 2 4 p->1ad (0, ¢) 1 B2 &
~\ A ~\ . . N A ! & \X
9 (sl 10.15). ¢ A vl Lol y->ld:vig 58 €9, S 0 -
\ 4

U, UL LAl 210 m & il d (0, ¢) Hiall uR A1 9. dell 3w L+
205(d 10.15
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alfbig 2azuqd Als0l
y—c=m(x—-0) ¥4l y=mx+c ..(3)
(Blg, (x, ) 2 y =mx+cf AHAA 52 dl d Bl p-2Advis ¢ Sl i 2l m €l ddl vl U Sl

AR AL S ¢ L HE el 5 B €1 d WAL y-Adulg AesH p-Aaell e 5 oL ol 212 oie o uRel sl a9,

[Aseu 1T @21 % 20U L Al 210l m 24 x-idvis d @, dl vl L o sls2el,
y=m(x—d)dX. (4

[engl>il [Asew (Ui saldd Ad-Al Gualol 531 2audt i qHl58L Andl a3 o,

. . N I . .- . 3 o N
BEISRBL 9 ¢ 0 s il 3L W2 1an 6 = 5 G daL L (i) y-dnls = =2 (ii) x - »idis = 4 G adl

vl AHLsWL Hadl,

0.

| W

8 Ay - Al ¢ =—

N | =

B3l : (i) 1] 3ot 2 m = tan © =

aall, AL al-id:uis agusl w350 (3) ual il U5

I 3
=—x—— - =
Yy ) Yl 2y—x+3=0

21 Hidld AHlsWL 9,
.. " 1 N ~ ~
(i) 28, m=tan © = 5 i d =4 2144 69,
aall, AL al-id:is a3y uHlsR8L (4) Ul i, Axlsw
1 N
y :5(x_4) U 2y—x+4=0 HI.

2L HidQ A5 6.
10.3.5 ?eb{l'i vld:uis RAJ\ (Intercept Form of the Equation of a Line)

QIR 5 3L L oL X218 UR @ e =218 UR D viduis S 9,

L X
(a#0, h#0)
A ~ . ~ . - \A (0, b)
vl L 2 (g (a, 0) 24 (0, H)mial udulz Ay 8.
(sl 10.16). vt 6 [Blg a3y A5 e, 5
b-0 b
y-0= (x—a) dud ay=—-bx+ab, .
by .
2l 2oy P @9 o
a b Sok------- a Ny T
el U @ AR b Advidl studl Juiie alsael v 218 10.16
f+X:1 3. .. (5)
a b

BELSRBL 10 & x-248 A =248 U HesH -3 244 2 Al otriad] v wlse Aadl,
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By :ndl, a=-3 2 b =2.

BuRAL vl 23U A58 (5) el

2421 waar 2x-3y+6=0,
-3 2

10.3.6 UMdn AU (Normal Form)

(ldel 4 Sl ddl 2ul |2 Al wledl ud © -
(i) Garbiguial vl U2 elRal doisdl doils.

(ii) dot gLl x-vtai-l de (Rl oidldal wRll M.

L 5 vl Lour GQamlbiguidl elkdl doidl dotls OA = p 4 OA x-vtal 4+ (el e

ZXOA = @ sl WRIL oidld 8. 3ul L Al di-AHdddl ot % 254 a1 sl 10,1740 saledl 8,

gd, dURLL Bl vl LAl alel id d-l u s [olg alddidl 9. ¢d eds Ruladl x-2»a uz

. ~ - NN T 3R
dot AM glRL 4IRL 5 @ =0, 7,
2772 Y
Y A
L
LRA P
A
A
p 1 : p
1 1 (0}
® A
. ul X' € i >
X<o ™ =X e Moo
J N\
Y’ Q) (ii) v
v Y
L A L
M o 2 O M
. /P P\
X A
\ 7
Y’ Y’
(i) 2u5ld 10.17 (iv)

Uls RAMUL OM = p cos @4 AM = p sin @. 2434 [Blg A <L U™ (p cos @, p sin @) 2.
el v L2l OA A dot 89,

N . 1 1 cos @
., L LAl el = — - =

OA-LeN  fanw sinw

2 ~ cos @
WUH, UL L AL el —

—— i 3 (bl A(peos o, psinw) Hial w2 21 9. el [Big elo 2034 uedl 2ou
sin

L - a{lsa

. CoS®
Yy —psino=—

h N . . 2 2
- (x—pcosco) Wed s xcos o+ ysinm= p(sin“®+ cos ®)
Sin
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sXxcos W+ ysin@=p.

~

21, Gafbiguial i U gldl dotdl dols p €l 2 dol L x-vtasdl e Bl A o WuHl veil

N

oi=ltd ol vl A5
Xcos @+ ysinw=p ... (6)
L AHL5R8IA 20t HAlMEo 230 w3H5WL 56 ©.

3n

2
GElLS0L 11 © Glowiligiall vl U €Al dotr 1Y 4 €U dal doiRviivis x-2asdl 8 B a 15° Wusdl

e T ~ N2 . ~ N N Y
dly : x=0, 2T sl A58 st =p, y=p,x=—p,y=—p WA d A5l el A st

wRIL 6illd L vt A58l AL )4

B4 : Al p=421 @=15"2uld 3. (2uslkt 10.18)

N N \/5 -1 N
&, cos15°= 3 53 gin150= T — (3 ?)
22 2\2
gd, L Mot 2a3U (6) U], v wHls 4 s
i >X
3+l B \,
xcos15%+y sin15°=4 wyq) x+ y=4 uaq v
Y 22T 22 215l 10.18

(V3+1)x+(V3-1)y=8Y2 midie ailsea @,

GElE2WL 12 ¢ 32-[82 diudid F 2 M2ue diudid K 215 32u 143{ls01d Adin 9. s F = 32
AR K =273 24 %82 F =212 A K =373 20Ud 8. dl K 4 F -l 2344l ealdl dal a4 K =0 ¢l

AR F Al Bud ikl

B5A ¢ WAL Y F 2l x-ia U2 24 K 2 p-»ia Uz saldd &, el wd & Bigail (32, 273) 24 (212, 373) 21 XY-
AHAAHL 8. dl Big (F, K) ol [big 2034 a3{lseid AxiHA 522,

K—273=M(F_32)
212-32

nK-213=1 0 3
180
5
.'.K:§(F—32)+273 (1)
2L HIdld Aol ©.
ed, AHlsWAHL K = 0 ddl,

2
02%(F—32)+273 syl F-32 =-— 735X9:— 491.4 yal F= —459.4.

NN A

ofley 3l ¢ vl aRilad ¢l 5 JvieAl AHLSWL UAAH WUy = mx + ¢ . 53] WA 5 F, x-2al
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211
U 2 K, p-218 U saldd 8. dl aHlsel 13 saldd @zuui Hagl
K=mF+ ¢ . (1)
8d, (32, 273) i (212, 373) Als2L (1) L AxaA 5290 dell,
273=32m+c . Q)
w4 373=212m+c . (3)
AH{15381L (2) 244 (3), B3adi,
5 . 2297
m= 5 M ¢ = T Hual.
(1) Hi m 2t ¢ <Al BHdl 3,
K zg Fi 227 . (%)

Hidle 2ol €9, (4) Ml K =0 ddi, F =—459.4 waal.

LMl 6l Al 2ud] €9,

@8 | 2l Rl ¢l 5 AHSBL y = mx + ¢ HE AAUL m A ¢ PUAAL D, 2L 6L AN ALHAL 2L

AL A5 gl B A A €1 ddl 6l adl-] %32 Wl BURL oHl o BeldRUHL vl A58l

ALY 10.2

uell 1 ol 8 |l 2l Al AHHA 52 ol i, w50 Hadl

1. x-v&l v p-2al AH1s80 dadl.

N

. . NN N 1 ~
. (=4, 3) llgrial uaiR adl x4 %+l el 5 Sy,

3. (0, 0) wigl vl adl A m el

(2, zﬁ) wigl yal adl 2 @l x-2a Ald As 75° ¢,

S U A

7. (=1, 1) 24 (2, — 4) Bigainigl ua adl.

x-28A GLHBigl 3 visuel idl slell eyl Hedl 2 Bl gl -2 gl

. y-2ae G iel GuR 2 2sH 2dl Dedl 2 x-tal ae [Ral Al 30°L Hiusl Rl ei-iadl.

8. Glawfoigaial 2ol UR elRAl dol HIU S ¢l dal dotRuivis x-at-l 4 [Ral 418 30° Miu-il vell

oild,

9. A PQR -l [u1lsigil P (2, 1), Q (-2, 3) ¥ R (4, 5) ¢y, dl [aRilsig R uidl gla e

Y50 Hodl.

10. (2, 5) 2 (=3, 6) Bigaiaial ualR adl 3vud dot 2t (=3, 5) Blguial uai adl v axlsmel

Yol
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11, (1,0) 24 (2, 3) A %sdl 2uilvied dot 2 d-f 10 7 oLl (Ao sdl vl us{lse ikl

12. (2, 3) [Bgaial uai adl 2 dlHial U AHi ididl studl et 2415281 2Lkl

13, %+l 28l Usdl Aideddidl AL 9 €1 24 % [Blg (2, 2)Hidl AR adl gl ddl v, Axlsw
2014l

14. (0, 2) ®igl vaulR ddl 24 x-2ta-dl 4+ Ral a1 2?7: ULUAL vRIL oitddl vty w18 Hoadl

ddl d vt AULdR €l 2 p-otad Glaifeigal 13 2 2153 idR Bedl Sla ddl v wdls2mwl
ueL Hadl,
15. Gla[siguial il UR glRdl doidl detule (=2, 9) 1d, dl d vl A58 Hadl,

S ~ ~ .

16. dlotdl diedl dons L (A1) 2 deil Alqud diusid C 92al 33v Aold 9. s UdHLE wUR
L=124.942 14 AR C =20 2+ 242 L=125.134 €14 A2 C =110, 8. dl L 24 C a2l %31
yoit Hodl,

17. 25 g4l dARSs-l Uilds Ucdls 2164138 980 (M2 e84 T 14 uld (@22 x4 1220 (@22 4 T 16 ula
(@22 dal 8. ¢d glrll daRulZHd 2 Wil d2a Yu Aeld © dx Wil ddul dl d Uds wsalRd
T 17 ula (el etd seal (M2 g4 4l as ?

18. &l 923 oirddl Rulvisd, Heuloig P (a, b) €14, dl d vl Axlsel g+% =2 9 du eldldl.

19. [big R(h, k),% 2vii-ll el 922 oirddl 2uueisd [6lg 12 AL aRinHl [doue 53 d vl Ax{lssl aldl,

A

20. vl AHLs0LAL Ascurldl Gualar 530 AlbBid 521 5 (3, 0), (=2, —2) 4 (8, 2) AHIW ©,

104 ?Qb{l'\i us AHLSW (General Equation of a Line)

BULAOLAL LML 2A1UBL 6L Al 2 s8ld] AH158L Ax + By + C = 0 Ll 240414 541 9, o4l A, B 14
Coidl didlds 2u0 9 5wl A B 2i5lu1e 94 - Al dal 241580 Ax + By + C = 0 <UL »udv d3al
vl gald 9. del il A A B ls uld 944 A €U AR Ax + By + C = 0 U521 515 uel auls2e-

-~ .

us v AW § v, cAlus AH{lswL 58 9.

10.4.1 Ax + By + C =0 i [a[ay 2a3u
el s aHlsei 13 salddl uBusil gl [Qlay a3yl 2l asd © ¢

(a) AlU-2Ad s 23U : A B#0, €14 dl Ax + By + C =0 < {12 w18l avil asiy.

__éx_g Y4l y = + 1

y B B y=mx+c .. (1)
2] m——é e c——E
’ B B’

N

A ) 2 . . . . A N A A
AURL Rl 1 & AHLELL (1) Jviley ala- vl 2a3usy AW 9. dAHl ala -

s —= 8
V- : B .
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NN

N\ ~ C N 2 o N ~ . . C S
LB =0, dlx= —X. L (3216t Uil 9 2 de ale Al 2 x - s —— 9.

A
(b) 2idig 2A3U 2 %l A#0, B0 21 C# 0, 4 dl Ax + By + C = 0 = {12 w1l evil a5y

x .y y
—+—==1 2YAl —+==1
_g _g a b ..(2)
A B
Cc . C

e, a=—— 24 bz—g.

UL AR{ 5l 5 A58 (2) Wt 2icvls 23U i, u{lseL 9.
2l x-wldvis = — oyl = - o
¢d, A C =0, &ld dlAx + By + C =0 < {12 usdl avil asiy -

~

Ax + By = 0. 21 Gofiguial uaniz adl vl eald O, dril el UL idvidl g 9.

A B=0dl A=0. Ax+C=0 3 C=0 *2 Ridde v 21 & dal dedl x—2idvis _ €. c=0 dld
GlorfBig izl a1z i B, A

AA=0 dl Bz0, By+C=0 aufaldy 2vu 9.

C#0 e dril y—idvis —% 8 daLC=0 S, dl d Glrmfignial YR A 8.

(c) vl a3y :
Q3L 3 Ax + By + C = 0 284l Ax + By = — C g1l gaididl i dot 2434 x cos o +y sin @ = p 9.
I, ol 215 % il AHSWIL O 2 d AHIA O,
A B C

cos ® Sin ® p

A - . B
‘. cos 0)=—Tp%{-[ sin c0=—?p

2 2
N A B
&, sin’®+ cos"® = <—?p) + (__p) =1

22l p2=c—2 22l If’ziL
A2+B2 2 2

— A . — B
. COSO=F—————rxo _ 5 Sino=+

2
[A2+R2 A2+p2
24, 520 Ax + By + C = 0 < dot 2434,

xXcos®+ysin®=p

A N C
cos O =F—F—, —— ¥l p=t—mu—=—x.
=dl, VAZ+B? JAZ?+B? VA?+B?
p -l Bud 8 28 d Fd Rad] uaigall 524l

-~ .

Gelganl 13 ¢ o vl AHLSWL 3x — 4y + 10 = 0 14 dl d-dl (i) eto 2 (ii) x-d:vls 2
y-2id:lg 9Ll

G54 ¢ (il 2004 w150 3x -4y +10=0 4
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Bl : KRRL 11
y=Sx4d 1
253 (D
R ~ ~ Y . 3 ~
2 3uMl @il Asia. sd wHlswL (1) A y = mx + ¢, A18 AvLddL 2loL m = 7
(i) uHlsW 3x—4y+10=0
3x—4y=-10 A yal L A
_105 - (2)
3 2
N - ~ Xy - . . 10 . . 5 -
2130 avil s, ¢d uHlse (2) 4 _+Z =1 A8 AUddl x-2Advls g = —— 2 y-2idnig b = > Hal,
a
BESRBL 14 30 3y 4 y—8 = 0 Al 2AlMciol 23Ul 3UidR 52 d wHl p 2l @ L (B4 2lHl.
Bie: Ud vl A5 B,
x/§x+y—8=0 - (1)
()= (\/3)2+ (1)% =2 A% oualdi, 21u2d
3 , -
7x+5y=4 21Ul x cos 30°+y sin30° =4 1Yl .. (2
AH158L (2) L x cos © + y sin © = p AL AL p = 4 214 0 = 30° M.

BELSRBL 15 il y_ﬁx_s =0 2 By —x+6=0 a2l VUL WY QL.

G54 y—\3x—=5=0 »ual  y=+3x+5

. (D)
N 1
2+ x/gy—x+6=0 1Yl y:—x—2\/§ )
NG
ETITC ERRTERY R
2 A N2 N 1
2L (1) AL &l my = 3214 20l (2) il &l m, = NeR
A 6L AL A2l 4S8l WY 6 S, dl
tan o = | MM 3)
+ mlm2 h
m, 2 m ~{l (Bdl (3) M 3sdi,
1
ﬁ_‘/g 1-3] 1 .
tan 6 = T |= \/_ _T Y,
1+\/§xﬁ W3 N3
agl, 8 =30°.

AU, 6L J0UDAL AL VRIS HIY 300 2dL 180° —30° = 150°.
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GEl8L 16 ¢ AL 20 5 b, by # 0 M2 UL @ x+by+c, =0 U a,xt+b,y+c, =0 gl ealdd €id

Nel D ~ . ~ ~ a a N eel D ~ . ~ ~
2 (1) LU AHIAR G dL —L = =2 247 (i) el WRUR dot €l dl a,a, +b,b, =0,

1 b
B5a @ 20l Juul,
b b
~ __a C2
e y=——"x——=
by by

UL (1) 21 (2) U el s = — A 2 m,= — L2 B ¢
bl b2

() Ul ANIdR G dlm, = m,

a1 _ 42

_4 = _4 244l
bl b2 bl b2

(i) eUll YRR ol Sl dlm, - m, =~ 1

4 9H__4 _

BELERBL 17 1 vl x =2y +3 =0 < dot 24 (1, - 2) [Biguiall AR adl i, wlsel ikl

B : x—2y+3 =00 20 O, da 1A uwd dvil as

3
Y=Y

vl (1) <L 2l m

1 NN N ~ N ~ 1
=5 9 dgll vl (1) 4 dodviidl el my, = —— = =2 Yy,

my

el Gl — 2 S1d e % (1, —2) Wizl UAIR Adl €l dell eusd s

~

y=(=2)==2(x—1) »ed % y= —2x Hidd {520 ©.

10.5 [sigall wud dorziar

> <

Bigail il »idR vied [igidl i w2 el +By+C=0
dotl dollsS. MR 5 L Ax + By + C = 0 %5 v 9,
drf [Big P (x,, y) el 20z d 9. [Big Puiel v L w2
ol uvis PM 1L (sl 10.19)

AL x A 2y a5 Q 2 R ML 992

A

N Y . N C ~N C
9. o [6lgatirl A Q[——, 0}»{‘1 R [O, _E)

291, ¢d [BL51eL PQR < &stsmn 6l 3 dadl asiy :

pd

y

2usld 10.19

- (1)

. ()

(1)
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2 (APQR-assn)

. 1 N
APQR < 74501 =—PM-QR, agl PM =

QR
. 1 C C C
APQR-és=—|x, | 0+— |[+| — | ——— +0(y,—0
dul APQR~ > 1( B] ( A]{ B yl] (n )‘
i c,.c.c
2"'B A AB
o N C ~
-, 2(APQR-{&Az) = ). |Ax,+By +C|, @

o T

APQR<j, @250 sl QR+l [5ud (1) 1l &di,

PM=‘ Axl+Byl+C|
JA?+B?
»yal d:| Ax1+By1+C|.

ers

1M, WL Ax + By+ C =0 [Big (x, ) dl doizidR

d=| Ax,+By,+C ‘
JA?+B?

10.5.1 61 AHidR UL QR doiidR

(D

UURL AR 9150 & 6L AHIAR JUUBLAL 2101 UM G169, dell 61 AMIAR JeUAL 2L USIR Avil A5y €9,

y=mx+c,

~

R y=mx+c,
_% )

il (1) x-A8te R»igA( o ]Hi 9 6. sld 10.20 i

6L UL A2, 2id2 2ed [big A uiell vl (2) U elRal dotsil

Aolls). M, L (1) 2Ae (2) A2 dotrdR

m

-4 ee) | e,

(D
e

d=——5-= &
Y| [ 5 9.
\/ 1+m2 I+m
~ . N ~ ~ N e . X’<
UH, 6L AHLAR VUL y =mx + q A y=mx+ C, A 2dR

[e-a |
d= 1 2

N 1+n12 )
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4a ol Uil AlUs A3UHL 2Eld Ax + By + C, = 0 2 Ax + By +C,=0 ddl3 24t ¢ld, dl Guz gulda
C -C NS
Yo d = [G-C | a .

(enelldl 2udc i Hadl 4% 9.
Y« vl RiRleor € dl ?
Gelsal 18 : [Big (3, — 5) &l R0l 3x — 4y 26 = 0 <, dotvid k.
B5d : 3x—4y —26=0 Ud v B,
(1) A vl dus A58 Ax + By + C = 0 018 Av0ddl,
A=3,B=—4%4C=-26u0.

U [Bg (x,, ¥,) = (3, -5) 8. 2, vuid [Bigdl v 2R
L As By re B3+(4)(5)-26 5
J A +B’ I3 +(-4) 5

BELSWL 19 © AHIAR WUAL 3x — 4y +7 = 0 24 3x — 4y + 5 = 0 a2, HdR Hadl.

Gic :udl A=3,B=-4,C =7 C,= 5. sl Hidld id2
7-5 2
g 173 2
P4 (4)y O

R 10.3

1. 3 >0le w1500 L0l 2id:uis 2A3UHL Al 244 dMeL 3L 24 - i Al

i) x+7y=0 (i) 6x+3y—-5=0 (iii)) y =0

2. 3 2u8a AH15R00A Bidvis 3UHL el 2 AMAL gl el U SULdL 2duidl ALK

(i) 3x+2y—-12=0 (i) 4x-3y=6 (iii) 3y+2=0

(1)

3. <A el adlselid Aldder a3unl saldl x4 Gribiguidl glRdl dodl dons A dol gl

x-e-(l e [Rall A8 eidl wRId Wi 2Lkl :

(i) x—3y+8=0 (i) y-2=0 (i) x—y=4
4. [olg (=1, 1) <L 2uL 12(x + 6) = 5(y — 2) &l >{d2 2l
5. x-ual uasd sy [ig §+%=liwaﬂ4 A widd 2idd © ?
6. ~flal AHIdR UL 2R HdR QAL

(i) 15x+8y—34=02 15x+8y+31=0 (i) /(x+y)+p=02l(x+y) —r =0
7. [Blg (=2, 3)nial uR adl 2 3x—4y+2=0 « AHIdR vl AH1520L ALl

8. il x—Ty+35=0 cdol A Bl x-2idvis 3 gld dal i, u{lswL ALkl
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9. AL Bx+y =12 x++3y=1 a2l e Wy 2.
10. [Bletl (A, 3) 2 (4, 1) =il w2 &dl vl 244 vl Tx—9y —19 = 0 i so{load s1evBl 9, dl
KT
1. uferd 5315 (g (x, p) =il watiz adl 24 Ax + By + C =0 1 AHIdR vl axls2el
Ax-x)+B@y-y)=098.
12, 6 3L (2, 3) Bigial uaiR adl €1d 2d dusl @23l wei 3d 60°€1d dal d 18-l 215 vl
gl 2 €, dl ofley v ALs8L QLML
13, %=l vicBig>ll (3, 4) 2 (1, 2) Sl ddl wivigel dotlgeiy s, Aailsel L.
14. [ig (1, 3)uiel vl 3x — 4y — 16 = 0 U2 €lREl dol-l dotule 2Lkl
15. GunleigHial uil y = mx + ¢ UR elidl del-l dotule (1, 2) 14, dl m 2 ¢ 2Lkl
16. 3wl x cosO—y sin®=kcos20 - x sec O +y cosec © = k -l QLU doiaidR HeisH p 2 ¢
S, dlAllbLd 52 5 p2 + 4¢2 = k2.
17. A(2,3), B (4, —1) >4 C (1, 2) 1 AABC-l [2R1fsig2ll 9. AABC-1L [R1l6g Auidl elral dusl
doulsS e i U5 2kl
18. % uilel il Ul 2d:vidl @ 24 b Sl ddl il wR Grmlbigaidl €lRal dei-l dous p gy, dl
N e
AlAd 52U 5 7 RS
10.6 & i Seloiguiall v adl uu-dglad adlsw
6L Oecdl Ll 7 24 [
Ax+By+C =0 (1)
il Ax+By+C, =0 (2) 2Uue .
A58 (1) 24 (2) vl 2uusl 25 ulsel,
Ax+By+C +k(A,x+B,y+C,)=0 (3) A,
el k202 22N B 2 dn uAd sl k<AL 515 wat Bud e 4l (3) 2L 2y M s ddad] w3lsw

N a

Yol Aol d 215 ui-2Asla 2% 53 8. 21 AH 501 20U 6 uidiAL DeBig il uaiR ddl 2ouisld ald  du iUl
1fls13 el aoll 6 Jvptiqi Beleigial uR adl S1duR vl 21 Asa-dl 00 ¢ % d uRL L1zl adel. k-l 5198

(Bxd vl UL Al ALssU 1o HA 9, kil 2 Bud ol 22l uel Hodl a5 6.
BELERBL 20 : UL x =Ty +5=0 A 3x +y — 7 =0 Al Seloigial uAnR aAdl 2 p-2Aad AHIdR vl
A5 kL,

Bsed @ 2ulel Jvuaiil Debighial uaR udl 516 uL v wdlsw
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x=Ty+5+k Bx+y-7)=0

~

wed 5 (1+3k) x+(k—7) y+5-7k=0 ()

%L AL 0L p-2g AUIAR S, dly L USRS Yo A, HHed 3,
k—=7=0 2udl, k=7.
Al (1) A& o Y Yl

NN

2x—44=0, A5 x—2=0Hdle Ul 1oL O,

e 10.4

L. WU 3x+4y=T A x—p+2=0 - Seligial uAR adl 24 5 elacuoil i uxHlsaL Hadl.

2. L Sx+ 4y —20 =0 AUIAR Vel WU x + 2y — 3 = 0 el 4x — y + 7 = 0 L Deloiguial v adl
il A{lswL Hadl.

3.0 WU 2x + 3y — 4 = 0 v x — Sy =7 <l deloigiall uAR Adl dul Bl x-idvls —4 ¢l ddll v
e AL,

4. UL Sx—3y =134 2x + 3y - 23 = 0 -l Selbiguial v adl dal Sx -3y — 1 =0 dorRviig AHls8L

)

utell.

10.7 Qaneigd 2au-id2

w2(dct qiia-uglie Aecil Bigyiin ouaa »i43u wlseim Y

A o olllas R steaid R d Ad ollw 515 wn-ugla- ‘_‘ _________________ “Y _______________ P(x, ) P(x', )
[Giglidl 2w af . ol as. Qombigd Aar [igyt 5
AR 53 Y0 el AMIAR AAdl Ml dud uRaldd
524l 4 315 2l URAdA B, 211 uglirl WRAdA 2tatle 22 0 M > X
(translation of axes) & 6. K
ALt 22icRell Al 235 [Bigri am oeeua 8. Bigalial h .
il A el AU AL Aol NIl 2Uusl [Esaseids wsslixl vO by M
ot (A2l uglarl Azalni veni 531 sl s 1021

uRaAldd 2l elf Audanl Bigen a3l Ad oleal

NN

9 d 28lal 112 24U 28l OX 244 OY il AeelHi 215 [Big P (x, y) a5 21 5 OX 214 OY A AMidR -dl

NN

el s O'X A O'Y' 8. O 31 id] GlanBig 6. il HHallel Aelui O’ AL W (4, k) B, Med 5 OL =k

2§ LO' = k. adll, OM = x 1L MP =y (%21l >uslc 10.21.)
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QI 3 Adl 28l O' X' oA O' Y' -l deeiui [Big Pl x-0n(5U2) (abscissa) #A y-4(o4%) (ordinates)
2rsH AS[A 1021 HO'M' =x' AL MP =)' 9.
OM=OL + LM, »2d 5, x = h+x'
wd  MP=MM' +M'P, 224 %, y=Fk+)'
wEl, x=x" +hy=y +k
L AYoAL L 2 el ALY, AL Aol U B,
Gelgel 21+ %L Gambig (1, 2) [Bigyd 2R sl 2Ud, dl [Blg (3, —4) -l Al qiv 2l
B4 ¢ «Adl GBigrL W =1, k=2, 217 20ldl Bigrl 4o A x =3, y = —4.
il UM (x, ) 20 el AIM (¥, ') d2el uReald 2d6ik,
x=x'" +h wed 5, x' =x—h
wd y=y +k wWed 5,y =y—k
U (Bl Hsd,
X'=3-1=2224 ) =—4-2=-6
Ul Adl uglani Big (3, 4) AL a2, -6) w1,
Belg2m1 22 : Gmbig (3, 1) Bigl 2irid 53 d UHIEL el 2UidR 523l il 2x — 3y + 5 = 0 - uRalid
aHls2eL Ml
B4 : WA S P oAl AH (x, y) Gle@lS AAdl A8 (x', ') A 9, GotuBigrl -l Wi =3 wA k=—1 8. 20l
U8 URAdA Yol x = x' + 3 2 y = y'—1 @vilal. Jviiel il AHLSQAHT AL el Ysdi,
2 +3) 3 (' - 1)+5=0
AUET] 2x' —3y' + 14 = 0 ¥4,

il el uglami vite wdls0L 2 — 3y + 14 =0 23l

Y 10.5

1. oL GBI (-3, —2) UR 2AlidR s2eUMi 2Ud, dl el 2UIdRAL 5180 {12 2uial [Bigytinl
UM, AL
H (1.1 (i) (0, 1) (iii) (5, 0) (iv) (-1,-2) (v)(3,-5)

2. Gmbigs a2 (1, 1) Bigot sl A wlsed uRaldd 243w 9 29l d 9l :
i) x>+xy-3y"—-y+2=0 () xy—y*—x+y=0

@) xy—-x—y+1=0
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uslel Gersel

BELSW 23 s o vUdlL 2x+y—3=0, Sx+ky—3=0 2 3x—y—2=03202uHl €, dl & il BHd 2dlHl.

NN Y ~

B5E 1 o1 UL ety Bigul 92, dl dil AUl 0U2AL 58 8. 2i2d 3 ol Juui Delig H{loy vl uR g H1S.

2], U] v

2ty—3=0 e
Sx+ky—3=0 o)
3x-y-2=0 . (3)

A3{l528L (1) 2t (3) L Alsdl aRusiR-l d Bsadi

x oy 1
-2-3 -9+4 -2-3

AY4L x=1, y=1

LU, 6L vt Seldie (1, 1) 6. 208l 211 Juiail Aousl glatel [Big (1, 1) »1 A1ls28L (2) AL

N

520, ddl S l+k-1-3=02ed 5 k=-2.

Gelg2nl 24+ x-vadl e (Bl A8 13501 Miusl well oi-ladl Juid A1ua [Big P (4, 1) L vl 4x —y = 0 &l
RN

B5e @ 4x—y =0 20U v V. . (D)

il (1) [Big P (4, 1) @l »idz ofley v 04 libal Y

2 . NN

y
uLH, AR oL il Deldle aldd usdl. d M Ll uddl ‘\
ofloy vt Alsel g wsal. (2ugld 10.22) ofle vl
L0l tan 135° =—1. ¢d — 1 aladloll 244 P (4, 1) gl w12 ddl

Wil A{ls
P4, 1)

—l=—1(G-4)2ead 3 x+y-5=0 (2
y (x—4) x+y (2) 1350

N N S . N N S < >X
A5 (1) A (2) A B5ddl, x = 1 2 p =4 oL, 213, ol o \
W

il Delis Q (1, 4) 1dl. ¢d, 3wl (1) Big P (4, )4l 5[ 10.22

3L (2)1 Alhe 2id2 = Bigil P (4, 1) 24 Q (1, 4) 42+ »id2

-2+ (4-1)2 =377 s

N ,on ~

Gelg2eL 25 ¢ Rl Adl seudl s 5 s vl vis Alel AR BH 11 52l €l dL Blg (1, 2) o v

x=3y+4=0 - =wua ulalbio sl
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B : WA 5 x—3y+4 =0 aia Big P(1,2) < wabion Q (h k) ®. 12 3 x -3y +4 =0

wivig PQ <L dailgoiess . (ugla 10.23)

> =<

X’V 0
v
YV
susld 10.23
a N =
UM, ML PQ -l el = WLx—3y+4=0-La°

k- -1
r—T Yl 3h+k=5 (2)
3
h+1 k+2

A PQ o wedlig | > L (D UR 9. al,

E3( > ] 0 2ed %, h—3k=-3 ..(3)

6 . 7

(2) 211 (3) - G3adi, h=§ i k=§.

~

. . ~ - . (6 7
24, [6ig (1, 2) <L v (1) A a ulaleioy 3 38

BElg20L 26 s ULlLd 521 5 WML y =myX+c;, Yy = myXx+c, ¥ x =0 a3 2ALdL Bisiel, &tz
2
(c—e2)
~
2‘m1—m2|

G5A @ U v

y=mx+c, . (D)
y=myx+tec, -2
)]

x=0
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~ N NN A N Y
iusl sl ¢lal s vl y = mx + ¢ A pomxte, A
vl x = 0 (y-28) 4 (0, ¢) [egul 1ol ©. 2414, '} 0, ¢) y=m x+c,
v (1) 2 (3) glrl oiddl Bistadi o [Ribig il
P (0, ¢) 2 Q (0, c)) &. (2uslc10.24) >% [1lbig
R
M58 (1) 24 (2) Gsaail Haal.
P
AHlsel (1) 24 (2) - Gsadi, / ©,c)
= (c2—¢a) 2 y:(mlcz_mzcl) v o \l > X
(my —m,) (m,—m,) \%
215(d 10.24

Ul Bisieid -y RRiGle

(my—m,) ’ (my —m,)

[ (c;=¢)  (mey,—myc)) ]
R .
¢d, Blstar aaasn

_1

2

m—m, m—m, m—m, Z‘ml—m2|

2
c,—C
C, —Mm,C c,—¢C m,c, —m,c (2 1)
0 [”112 21_02}_ 2 l(cz—c1)+0 (Cl_ 1€2 211_

BELERBL 27 % il gIRL VUL Sx —y + 4 = 0 dall 3x + 4y — 4 = 0 <l 922 oieldl Jvdvisd qelig (1, 5) S,

A a .

d vl AlseL dadl,

B5A @ A VAL

Sx—y+4=0 (1)
3x+4y—-4=0 9. .. (2)
wRL 5 Hislel v, el (1) 2 (2) A Blgil 2«54 (o, ) 214 v
(o, B) Hi B8 O, (2u1sld 10.25). del /
S0, - B, +4=0 2 T B

3o, +4B,-4=0

- 4-3a, 1 6,5
24l B, =50,+4 A P,= YRR 0.4
el 2le © 5 Hidle L (o, B)) 2L (o, B,) wdl el vuvised 1| @By
weyfBlg (1, 5) 9. 212, s NS X
(—%,0) 0 (%,0)
ator oo Pit+By _s
T_ e T_ , Sx—p+d=0 Y 3x+dp—d=0
S tds 4-3q, 2u5ld 10.25
1
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w84l gyt ay=2 A 200;— 30, =20 .. (3)

o, i o, Hie (3)rl Alsreil Giadi,

=22 3 -2 RN
1Ty T HaT g
26 222
w08l, f,=5—+d=—+.
e 23 23
(1, 5) 2t (o, B)) Hill a2 ol v 24 Hidlell v w5 ©.
m
s B=S _23
y=5= (x=1) 2aq y-5= (x—1)
oau—1 276_1
23
2l 107x — 3y — 92 = 0 1idlet vl O,

BELERBL 28 = UL 3x — 2 = 5 24 3x + 2y = 5 2l AHIA 2idR 2Udd A [Blgplldl e 215 il 89 dd oldidl.
B3a: 3x—2y=5 .. (D)
i 3x+2y=>5 .. (2)

UG UL 8. HIRL S (A, k) eUlL (1) i (2) Al A4LA 2idR 2udd [Blg ©.

 [Bh-2k-3] [3h+2k-3]

Jor4a  Jo+4

Qe 3h— 2k —5=3h+2k—5 A — (3h— 2k —5)=3h+ 2k - 5.

wadl [3h—2k —5|=[3h+2k -5,

>
2

NN N . ~ 5 ~ . ~ =
2L 61 A6 AU AUl k=0 247 o= 3 L (ig, (B, k) 2 {1500 y = 0 224l x =

2L U500 vl eald B, 204, (1) 247 (2) 2l A1 2idR >udal Bigii-l ua i 9,

W | L
A
a2
&

uslel et 10

1. k<l 55 BHd M2 W (k3) x— (4 - k) y+ K -Tk+6=0
(a) x-di8e AHIdR 2.
(b) y-dia- AHidR 2.
(c) GloweigHial vauR .
2. U 3x+y+2=0- wAMdol a3 x cos O+ y sin 0 =p 14, dl O 2 p «{l [EHd WML
il el UR AL AL AU 2 ORISR s 1 A — 6 €l dell vt A58 2L

: N R X y 2 ~ Y ~ o
P-28 U sy [Big 3% =1 opal 4 254 2idR A4 ¢ 7

hnh s W

(B2l (cos 0, sin 0) -l (cos O, sin 0) Higl uAIR adl vl U Grulbiguidl eRdl dotd doldr

NN

ALHL,
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6.

10.

11.

12.

13.

14.

15.

16.

17.

18.
19.

20.

21.
22.

23.

L x — Ty + 5 =02 3x + = 0 -l Selorguial unR adl v y-2ad AR v w8

qaal.

a X y N N\ . Y ~ a N = 2 . ~ ~
eAL) Z+g =1 2 y-viai-l Oeloigal vida v dot ddl 2l Alse dadl,

WLy —x =0, x +y =0 x — k = 0 %l eiedcl Bisiad &x1sn 2l

A RUIAL3x +y—2 =0, px +2y -3 =02 2x —y -3 = 0 s [Biguia]l v adl €l
dl p 2lHl.

WDy = mx + ¢, y=mx+c,dd y=myx +c, WUHL Slu dl ALletd 532 5,

m(c,—c;) +my(c;—c)tm(c —c,)=0.

(6ig, (3, 2)Midll UAIR Al i 0L x — 2y = 3 A18 45° <AL iRl eieladl il uHls80 Hadl.

WAL 4x + Ty —3 =024 2x — 3y + 1 = 0 Al Desiguizll U2 2l i el U AHIA Vil otlladl i,
A5 2Ll

m=*tan®

Gloeigiiell uau adl 24 y=rmx+c U8 6 -l vl ettadl g wlsas = 15 m 1an0 &

(1, 1) 25 (5, 7) A %iscll vdld, 2UUE il x +y =4 541 dLRIdRME [Acit 529 7

(Blg, (1, 2)d 2ol dx + Ty + 5 =04l i 2x —p = 0 ~il [Rani id2 ML

(g (—1, 2)uial uaR adl vl ol il 5 gl d vl x +y = 4w delolg (-1, 2)al
3 254 HdR Sl

stesiel Bl el AiBigl (1, 3) 2 (- 4, 1) U, dl 512512 eisiad] olggiiad Axiadl v
Auls2ell qadl.

(6lg, (3, 8) < 2vllx +3y =7 <L et ulalbiot Howal, 2460 sl Alel AL dls (@R s

A ULy = 3x +1 A 2p = x + 3, A0l y = mx + 4 A8 1AL HIUSAL VeI oilad] Sl dLm o, Hed

~

L4
A s A [big P (x, y) W w2l x +y — 5= 0 2t 3x — 2y +7 = 0 &l deivid-dl ual 9l 10
28 dl Allid 521 5 [Blg P il ua 25 v 9.

AHIAR AL 9x + 6y — 7 = 0 247 3x + 2y + 6 = 0 2l AHIA 2idR wudell v w5 Aadl.

(Big, (1,2) Hiell v ad usiad s B Big A el x->ta u2 uRaldd ad 8 214 uRaldd Ba Big (5, 3)

Higll uAIR Al 8, dl [Big A AL A3 2l

N . ~ ~ A X . . . O
Alleid 531 5 Bigil (\/az—bz,O) 2 (—\/az—bZ,O)zﬂ vl —cos0+%sm6=1 Al dotadldl
a

ARSI p2 6.
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24. s af5d x50 2x — 3y +4 =0 2 3x + 4y — 5 = 0 gl sAlddl Al4L 1”12l Ao [elg, U2

Glofl 9 A d A58 6x — Ty + 8 = 0 gl saulddl A1l >l U =4eddH AHUHL Yelxal Hidl §,

dl d % Hiold x4 d- adlsel dadl,

ARIA

& (x, ) (x, ) Bigpiniel v adl Ridido 4§ ddl il e m=22" N N7V -y oy
= =

@2 vl -l et (Bl 18 o MideL BRLL tield dlL dl 2l m = tan o, o # 90°.
& AH[Elacy il alol e B 2 [AR1d6L Jutirl alol vevaIld Al
@ L L2t Ll L0 2isd my 2 my ¢l ot disl a2l dgsioed 1w 6 ¢l dl

m, —m
1+m m,

tan 6= J+mm, 0.

SN2 ~ N ~

@ %L 6L A0UALAL B0 UM S1A Al 0 dl % o IV YRUR UHIdR S,

~ N ~ .

@ %L 6L UL SLOLAL RIS —1 €14 dl el dl % d I URRUR dot Sl

@ [Big2il A, B 24 C AHv ¢4 dl 244 dl % AB-lL ¢l = BC il ala.

& x-21812] g 2sH 2idl 2iddl WAl vl AH5W y = g nAdly = —a O,

& y-218l b 254 2idl Al RiRleior vl AW x = b AL x = — b D).

@ Big (x, y) 2 m aloeusil 244 (x, p ) Bremisfl dau adl v U2 i, dl y—p =m (x - x).

y
N - < =22 —x) A
@ (x, y) 2 (x,, p,) Brgniel var adl vud wflsze Y= V1T (x=x)) &,
2 1
& m Al B Fell p-vid:vls ¢ €l ddl i uR [Big (v, y) S, dl A dl s y =mx+c.

& m el v Bl x-dvis d Sl ddll i, A48 Yy = m (x - d).

b Q e 2 S X y ™
@ -8 UR @ Ve p-28L UR b Advg sl ol wlsw —+ o 1.
a

@ Gl [BigHial il uR eldl dotel dolls p Sld i dol 3 x-2tai-il 8t (22 018 © MUl vell ei-ld d
Mol 23Ul i, uHl5W xcoso+ ysino=p.
& [Blg A2 B ol s Ad 4 A Sl ALY Ax + By + C = 0 UL 515wl qHlse 2dus 3ut

Al 5 vt s A0 58 9,
| Ax, +By,+C|

@ IR UL Ax + By + C, =0 21 Ax + By + C, =0 423 doizid2 d =

@ Big (x,, ) dl 3 Ax + By+ C = 0 < dotpidk d =

| &-Cy)
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s

* Let the relation of knowledge to real life be very visible to your pupils
and let them understand how by knowledge the world could be
transformed. — BERTRAND RUSSELL +#

11.1 wddas

wLoL0AL W5 10 ML 2Ll Jvitdl AHlswnAl [alqy 2a3ul (ag
eyl sul. 2L wsRHL uel Sedls [adw asl Fdl 5 ada,
Buady, uadd, xlaadu-dl 2eaid s, uadd 2w sldady 4y
AUldifHuA el gdl. 2L asl dol [gagdl ddda ALl 9 dls

qadidl glaldl d ag ulkaede 5 alsdl als sHiaviiy 9. 2l dsi-l
el auler, 251w 2 3o 221l 221, sda dldedl uldds

i dledidl Ssdlde 9ol ERLL &lo>lMl 6lgloll GudlaL ULy 9. ¢d

N . N o A ~ . . ~ Apollonius
2LURL 2L U s0UL AL gL 5 sdl Ad dot [gag-l Anda Ale L (262 B.C. -190 B.C.)

Yedl el gel dsl Wa 9,

11.2 sigh ulR269¢

~ ~ N N

AL 5 s MBIA R 0 78 2 m 2 SIS 2 v 8. d [ MBI [Big V 4l 82 & 2t dusl

Q2L vl | o 8. (sl

=N
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QUL S 20l m AL BRI o A0 6 d Dl 7 2UAWA WRHHEL AUl N
NN N c N N NN by N N\ m
U 9. 2L A ABldl AwElA [gsasl dotadla didl g sead © A o
UL Al Aeel g a3 adel. vuell,pial gl i oid Raumi 2iid vV

Sl 8. (puslanl.2))

e V A gy [QR[E (vertex) 58 ®. IvL 14 gl d

el (axis) 586 O A vl m A -l 515w Ralaui gl 495 gl 1.1

(generator) 58 9. [y gl 6l LML (APl 53 2 d

Ucls Gl $E5 (nappes) 5¢ 9.

¢ AUBL Aol 515 AMA AL D8 A dl, 2ilal Dee Al YWRAIE (secrion) & V. 1M, o4l

A AL AL Deall HoldL A5 ASdl (conics) 58 .

l

w8
. AHdd
Guarl aig m TS S \
[ S
12+l 9ig g
25l 11.2 28l 11.3

IR UGl AHAA Ul B ASH AL, AHAA A5l el AL oiAldd VRIAL 2ULHLD ALURLA Y&l
el Alsdl U, 4L 5, Auda gl [ldel e 21 B uiu-dl vwell A 9. (usli 11.3)
LM Ageil Audd Ald-AlL 9 51 dl Ry o Haar gl RRibigal Guadl xadl 1A

sAsHl YO

11.2.1 Clgl,((/l, Guddd, Y44y 21 sldady (Circle, Ellipse, Parabola and Hyperbola)

~

PUR AHdd gl sasq ([ulele a) de 8, cur la-l Ralastl aa:
(a) U B=90° U du-dl 9e ada ad. (pusla 11.4.)
(b) 22 0 <P < 90° AR ddl 9e Guaay agl. (sl 11.5))

(c) 2R B =0y AR dH-l Se uaay 2. (Gsla 11.6)
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[ N~/ / 4P
LG/ ol
sl 11.4 2u5d 11.5 sugld 1.6 2usd 11.7

Gul ~8l R AUdd A5l 215 sasd Yol d 2UUR 510 8,

(d) %42 0 <P <ol AHdd Agl ol a5 92 O A di-dl e ldaay 8.
(sl 11.7)

11.2.2 [al¥d €l'é' yl3adg (Degenerated conic section)

AR AUdd g BB 9 R -l Rala»il ual:

(a) U o <P <90° R du-il 9e 2 [6lg 4. (>uglall1.8.)

(b) U P =0, AL AUAA A5l AF 530U AHLAL A dAH-AL D 3 v 29l (G5l 11.9.) d udads]

QulEd 34 9.

(€) 2 0<P <o, Al ddil 98 uu Dedl Jvuil 2. (GUs11.10.) d Alaaad-] [alsd 3u 9.

gl 1.8

25 11.9
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(b)

2u5ld 11,10

¢d, UUBL 21210 (Aol ofifas opRiHHia 1D 68l o Alsalnl Wil a4lsell Hadlsl.

11.3 agn

callvl 1 : q¥deEl Alssy Bigal] i 2iad 2uddl aqn Bigsiq agq dda séard 6.

hY C

Assu BigA d ada- 57 (centre) A Srsall adn u dal S15uRL [Blgrl »idad aga-l Lo

)

(radius) $&d 9. (sl 11.11)

<

gd A adie 5ws Gabig Sld, dl H1uBLA ad o A58 A0AH AZUHL UL S 2 Blosdl Hita

TR

gl del adoy aulsae 12 wasl Ao (ugli 11.12.)

Q35 Big C (A, k) Ado] 3ws 2 r Dol 9. P(x, y) adn ua s1Sumt Big 9. (sl 11.12)

Y
Grosun A
P (x,
P, (x5 »)
P,
P,
< —>X
OP,=0P,=0P, o
v
2usd 11.11 2usld 11.12

g, AL UHIBL CP = 7. »idyYol WHISL,

Joa-m?+ -k =r
adl  (x—hP2+ (y—kP=r2

21l Bt uRl A B9,

ML (hk) 35 e Bl ddas w2 9.
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BELWL 1 ¢ 3rs (0, 0) 2l 7 Brosdicuon ado sl Hadl.
B : ol 7=k =0Adi ddo- aulswe x2+)2 =72 wa B,
BEISRBL 2 ¢ 3rg (=3, 2) 2 4 Bioidion ada a3l 2kl
Bia s 2wl h=-3, k=22 r = 4. dell widla ada-f wlsw
(r+ 32+ (y-272=16
BELS20L 3 ¢ adu x>+ 2+ 8x + 10y — 8 = 0 «f 5% 1A Biordl AllAl.
B3a : 21l 204 a5l
(2 +8x) + (2 + 10y) =8 8.
$d, yladl d% eaiadl Yeld unoled s,
(x> +8x+16) + ()?+ 10y +25) =8+ 16 +25
(T 4P+ +5)P2=49
L@ EH -5 =T
21, HUA AdOi S (— 4, —5) 2t Biosdl 7 44l
BELSRBL 4 ¢ %ef Srg vl x +p =2 GUR A 24 ¥ (2, —2) el (3, 4) Hizll uAIR Ad 1M dal dda w152 ikl
Bid @ WIS (x — WP+ (v — k)2 = 2 uidld adaq alse 9,
¢d, Aol (2, — 2) A (3,4) Hizll uAR Ay B,

d, Q-hP+(2-k?= . (1)
A 3 —h)P2+(4—k)? =2 .. (2)

~

qufl, ddoid S vl x +y =2 Gu g O,
h+k=2 .. 3)
w{l52001 (1), (2) 211 (3) A G3addl, £h=0.7, k=13 2 2=12.58

adl, Hidla u{lswL (x — 0.7)2+ (y — 1.3)2=12.58.

2wl 1ol 5 U8l ucdsii adad alse qadl:

1. 5%(0,2) 24 2 Blesaiain 2. 5% (=2,3) 24 4 B
3. % L] 214 ! EESISTEN 4. 5% (1,1) 24 /5 Bl
. 27 2 . , ﬁ

5. %% (-a,-b) 21 [q? — b? Bl
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2L Uzl 62l 9 WSl UASHL Ao S 2t Biosul 2lidl:
6. (x+52+(y—3)P2=36 7. X24)P—dx—8y-45=0
8. ¥*+3)°—8+10y—-12=0 9. 2x*+2)?—x=0

10. B+ 5v2 vl 4x + y = 16 GU €1 dal % (4,1) A (6,5) gl wAR ad €l dal dadas]

A0 Haal,

11, %< 5va vl x — 3y — 11 = 0 GU 14 dal % (2,3) 24 (=1,1) Hidl wAR ad €l dal adaq

)

AlsmL Hoadl.
12. %<i 3vs x-280 U 1A A ¥ (2,3) dial AR ad S 2 il Brosl 5 Sl Al ada- aslsw okl
13, Gormbiguial AR adl 2t 28l U Hdvig g A b otrllddl dd o] 23lsel qadl,
14, 3-5(2, 2)alon 24 [big (4, 5)Higl umIR adl dadn a+lse Hodl.

15. [Big (2.5, 3.5) 3 adq a2 +)2 =25 -l 2{e2, 611 & Gu O d A58l 53

11.4 Y44y 1 A

UL 2 ¢ S8 (R vl i [a (g ] (v YR 1 614 dal) A3t il
Qe AHaAd-1l A4 [Big il 2181 YRAEY (parabola) 56 €.

(Bt o 7 AL wrRaeasll RaulAst directrix) 247 B [Big F AL uddasd

I
U

W -
[y

WA (Focus) & © (sl 11.13). (8] “Para’ <l 212 W2 (For) -
[RRTIEET

W m

w

‘bola’ il 12 59 (throwing) Al &4 8. Hed § edlal Ui Fsci 21d )

AR dl alaHel).

2usd 11.13
-y | o Ml Big 2 R 0 uR S dl, 515 MBI e 214 A

(Mlad (Blgal A4 2id 2ndal Axdaddl s Blgidl o MlEd -7
A . . (Fraufist e 218
(Glgiell uR adl vl 28l 24 d [A[2d ol dot ¢l il 0L YRAddTd, Ve R

(A 3u & N /7 i

ERIT

Aol v Udl 249 RS do vl Ydda-l 218 sead 9.

N N N \ N . g N\ \ \/
Ay A d-l e Oelbly uadud [QRIGE (vertex) sdud .
= ° = S 2usld 11.14

(sl 11.14)
11.4.1 uaaud wudid adls

ol wddd (Al GlotHlely Slu i d x-t8l & y-2a Ul AMd Gl dl 20U yaddd A0dH
w50l A 8. uaadl-dl Hdl AR wsd 2 sl sl 11.15 (a) 4l (d)«i ealda 9.
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Y Y
N N N N
Q
|
] F
® =
X' €& > 1L S
N 0| F(a,0) X< F (-a,0) |O >4
v WV v v
Y' Y!
2_
y =4ax y2=_4ax
(a) (b)
Y Y
A A
pd y=a N
~ rd
X'€ 0 >X
F(0, a)
F (0,~a)
X 5 X
pd N
< y=——a 7
A /4 A4
Y Y
x2=4ay x'=—4ay
(©) 2u5la 11.15 (a) dll (@) (d)

sd, GUBl A5l 11.15 (a) Hi saldd uadu-] alsel 1A saiddl Ad Aadly:

21l A (a, 0) a> 0; 2 HuL™sLx = — a 9.

QR 5 F Ae ot 7 Rt 9. Rafist ux dot FM elRl 24 FM L 1#dfbigd O dl. OM 4 X il
dolldl, udd-l cqrval Yl Hefoly O uRddy U 48l 2 d udads [RRU6Eg sdain . O+ GLwilbig
a1 4 OX A x-2a A dl doivil OY - p-21a dls adul, Al Railis Yl »id2 2a ddi, b wy
(a, 0) 2 s Aa3{ls0 x +a =0 29, 20 Bl 218l 11.16 4l salda 9.

Q1L 5, P(x, ¥) uddd U 1S Big . dedl PF = PB 2y, PB 21 vil /U2 dot 8. B <L 4 (- a, y) 49

234l UHIA,
— 3 j— Y
PF = /(x_a)2+y2 2+ PB = (x+a)2 IN A /
B(=a, y) P(x,)
¢ 28l el ¢l 5 PF = PB /\
< O\ F(a,0) >X
. 2 2 _ 2 F(a,
..\/(x—a) +y —\/(x+a) s
Il
L —aP+yr=(x +a) Wb

2l x> —2ax + a® + y* = x>+ 2ax + a® 2usld 11.16
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Y4l ¥ = dax (a>0) .(2)

21, udAAd U, s1SusL [Blg 12 = 4ax < AU 82

2l Gleg, QIR 5 Py, y) 431520 (2) o AMHIA 52 9.

PF= Jx—al+y2 = Jx—a) +dax =+(x+a)’=PB -(3)

ed § [blg P(x,p) URddd U €.

21, A3HL$2WL (2) 2t (3) Ul ALlotd Al 8 § o udau, (R1lbig Gwulsle iy, UM (a,0) Sl 2

RaBisid w150 x = — @ Sld d waddsd alswL y? = dax 9.

2L : Als28L (2) M a> 0 dls], x o Hew S5 UL He Aval 3 gt G1S U3, uid kel 4 1S ad. vl

N &

Id .

URRAlML YAl Ay Yo 2 A AWML i YHL dotledl wsid. uadddl el de x-e A,

UL % YHIBL ALUBL it YdaUlAl HHlswl qadl w5,

2w15ld 11.15 (b) 1l y? = - 4ax,
btlé[?l 11.15 (c) 4l x> = 4ay,
215l 11.15 (d) 4l x% = - 4ay,

L ARY A5 YAAUAL UHIBIA HHLS2WUL 5¢ €O,

@ UH [udduHl WHIRA wlsRIUL, uRdddd AUloL 515 s val uR Sl 8, [RRLGE Glatulble ¢ld &

e st oflo e AuidR Gl 8. 2el, vdl udad 5 gl e sisuel [Blg Sl i Habist sis

URL UL 1A AUl A0U1A 2L YRelsell [Anadg -l seiR 6.

gl 11.15 30 saldd uaadsl wuiiad alsen Guel {laql drel qadl as:
1. uddy, dll e ued A0d Sl 9. ol AHLSRML )2 Lol e Sl dl, d x-218 Ul AHd $ld &
2 ol AHLSWAUL ¥2 Ul Ue €ld dl d p-e Ued AlHd Sl 6.

2. ol uRAAUAL el x-va Ul Ald €y, dl

~

(a) % x 1l ASIBLS U 1A, dl uaad HRll oLy viedl ds 6,
(b) %l x <l USRS BRL 1A, dl Yday 1ol 6l vicell As .

3. ol uRddu-l 28, p-21a U AlMd Sy, dl

~

(c) %y -l ASARLS B Sld, ol uddy Gusl oy viedl ds ©.
(d) ol y il USRS BB €1, dl uady (2l oy vieel as ©.
11.4.2 uRaqu-l Alwdn :

AL 3 ¢ yqayl -l yAR ddl A uRAEd A A dol Gld asl Fl AAEA uRaad YR
gl dar vuvisd urqayql ldeo s¢ 8. (pusli11.17.)
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uddy y?=4ax L lEdo-{l doud 2iucl . (gl 11.18)
Yaau-l el wHEl, AF = AC.

wqg AC=FM=2a

al AF = 2a.

i AU x-218 U AR 1]l AF = FB 244 dall

/ A
C
£ g [udio A

Y
< OK >X

AB = Al[dco-l dons = 4a.

>

2. S
. STM[ o Fa0 o~
\ B
vy
w15 11.17 2uld 11.18
Y
BELSR0L 5 uAAY )P = 8 «Al AA[eAl din, 2a, FHaLHsie w5201 24 r 4
Alfareiorl deils slisl.
~ . . ~ N o ~ >
Giet s 2uld wlsaanl p? o) ve Slalel 21 udad x-2a wcdl Ald agd. € ol 2.0 Z
o
qoll, A5 x <l ALARS A lenel udadd wuRll oy vall. !
=
210a AH{l50 y2 = 4ax, AL AvUddl g = 2 MO drll HHa x-28 S, N
C o\ . Y o] = _
1] wdddAL AeAL 1 (2, 0) v, [RaufHsid Al x 2 250 11.19

29, (sl 11.19)

Aladotl doss 4g =4 x 2 = 8.

BELER8L 6 ¢ %, AWM (2, 0) S1d da (AL x = — 2 1Y dal udad-d w35 Hadl.

B5a @ A (2,0) x-28l U2 idd 8. del uddd-l e 3 x-2a 9. e, udaud wHiid axlse
V2= dax A4l 12 = — dax 2. 2480 [HalHsid 0341580 x = — 2 2t U™ (2,0) €lauell, wddd a =2 Hi2 )2 = dax

USIR-L 2 A el Hidld udaddsd Al y2 = 4(2)x = 8.
Gewgel 7 ¢ %+t [R1lbie Glotleie (0, 0) S1d 2 AL AH (0, 2) €14 ddl udddf Al5weL Hadl.

Bse : ], [UGg (0, 0) D 244 AL 414 (0,2) D, AL y-218 U 9, Aol p-2ial 3 udEu-AL el 99,

el AUeL e y-2180 uR dldiell udads] A4l x2 = day €U Sl 2, Hiold uHlswL

NS

¥ =4Q)y, ved 5, x2=8y 9.



236 olfRld ¢ iR 11

Belg20L 81 -8 Ul AR 2 RIRUGLE Gla(blg €l dal 1 Big, (2,-3) Hisll uAIR audl YRadu - A58 dadl.

B5c : uaad y-a Ul AMd B due kg Gonleiy 8. w1l 2ta udau-] axlswl x2 = day

) ~

NUdl x2 = — day A, Al (& uadd Gux 5 1A v d-l 4 IR AL P, U YAdY

el AWRML dd [blg (2,-3)Hia] waR 2wy 9. dal udday 1Al ds vad. §H, Ydadas

AHls20L x2 = — 4ay uslR <1,
aoll, uaay ((2,—3) Hidl yal A1 69,

~

adl 22 =—4a(-3), 2ed s, a =

W | =

21l Yagu-d Al
l N
x?= —4(§J y, ved 5, 3x*=—4y

{12 wa-s30s 1 2l 6 Hie AUlMAL WA, uRaduL e w1581, FaEsid alsel 2 Auldidordl donsS alidl:
1. y?=12x 2. x*=6y 3. )°=-8 4. x*=-16y
5. y°=10x 6. x>=-9y
(LAl Uel-suis 7 ol 12 3 200l 2l UHIBL wRadad A3ls0L dadl.
7. <la (6, 0); [(RaLlslx=—-6 8. e (0, -3); sty =3
9. [Rilsig (0, 0); <ul™ (3, 0) 10. [R1lbig (0, 0); <ila (-2, 0)
11. [RUGLg (0, 0), (2, 3)Mil UAIR Adl el x-2180 il 28 SIA.
12. [R1lbig (0, 0), (5, 2)Hial UAIR Adl 2 p-2t8 Ul AlHd.
11.5 Guaday
P, P,
VUL 4 : Gyqad ved el Aadi s ol [Rd [g2ia] viaRel P‘
AR AN 1Y Al [Blg (il o181 €9, 21 of [l [big il Guada-l V’ \

AWl 56 8. usla 11.20.)

@ -lb [ Buddd uRHL siduRL (BigHl AHdadl o [HBa Bigiel

PF,+PF,=PF+PF,=PF+PF,
2ldRell AAU AN 14 D 2 d 6L AR [Big>ll a2l 2idR sl 20150 11.20

ay Gl d 3 8.

AU Adedl Tutivisel Heulbiga Guaads] S (centre) 58 8. Guaausl UM UAIR Ul Ivvigd

Guadd-dl Y4t A& (major axis) A SaHld]l UAR Adl A UHIA 2EA doRuv el Buady -l
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oL A&l (minor axis) & . WHIA el vicAbig2lid Guaauni QUGG (vertices)sé 8. (sl 11.21)

A4
A
:ﬁ
A
st
Y

pd
~

YL 18 :

= : v

z 2

f:”’ F F bA
v

EREE

2ugld 11.21 2usld 11.22

UEL UL el dolls 2a, ollRL el dollS 2 A 6l AUM2L 92l 2id- 2¢ afy. dall

¢ A

e uHLL el dolls g ad w28 ollel el dolls b udl. (gl 11.22)

11.5.1 Guddal 28 usin e, 214 o8l e dal rgefl AuldL y4lel iR a2 deld. (sl 11.23.)
N . . -~ 2 2 2 2
UHLAL e 2bs 2culsig P dl b2+ e Q Jp2+ ¢

(Blg, P <l -Gl id-l 44100

F\P+F,P =F,0+OP+F,pP (FP =F0+0P) R

=ctata—-c=2a

oflaL 2t 215 iculbig Q dl.

2usld 11.23

(g Q uie Mtz 2id-l A

FQ+FQ = b2 + ¢ +b? +c2 = 2Jb% + ¢
(Blg2dl P 2 Q 6ir Buady U Hiddl €lalell, Guaaus{l cuval :4-u12,

2.0b% + % = 2a,22d4, a = .b> + ¢

DLT) F=b+c2, »ed, c = .a* - b*.

11.5.2 1 Buada-l s (A2 w52 24A1R Gur Hadal #H{s8L 2= a? - >l

A HUBL @ Al Hedd HAN AL 2t ¢ -l Heurt 0 Al g, il sedl>t dl

CUEICURTIENTE PRETACTE

[aseu (i) s ol ¢ = 0, ASA dl, ol AL Sl Holl o 217 2= b2 2124,

2u5d 11.24
a= b Guady ada ol odl (Gusld 11.24). 204 dda 21 Guadu-l is a a

=

[alre sz 8. drd A-29e 11.3 4i asl+ 53 8, ' sl 11.25

[aseu (i) s %l c = a dl b= 0 W A Guadd 6l UG Al wivis FF ol 2l (pugla 11.25)



238 olfRld ¢ iR 11

11.5.3 Geswsdl (Eccentricity)

QUVUL 5+ Guaayrl Svad A5 AUle] viar 2 Sewel] A5 [QRUBIE A Yareu Y8l Guadd-] Gessal 58 8.
Y A c a _ c 2 _ 2 2 )
Gdrdln e g2l ealay 8.2y, e=—. a = b” +c”¢ldEl c<a ddl ddl 0<e <l
a
Segell Al 2idR ¢ 8. Aol Bedrsdinl Aeiul Srsell AU 2id2 ge udl.

11.5.4 Guaauy Wl aHlsw

A Guaddd S Glotdlblg Sl el del WAL x-2480 UR § p-28 UR Sl AR Buaddd AHls0 AN

23U 4O 9, il 6L s dlisagll 2usla 11.26 4i saldd .
Y

Y A
N (0,a)
¢ P (x, y)
0,01
A B
F (-¢,0) Ol  F,(c,0) ) -
" (= b,0) [0 ®,0) ~ X
D

xz v yz ,(0,—c)
Y + - =1
a b Oa)

(a) , v ,

25l 11.26 % + % =1
(b)

¢, U 25l 11.26 (a) Hi saldd Bl A0l x-218 U2 €A dal Guaads] udiid a3lsaa dndls.

HIRL 5 F, 2t F, 6l AUledl € 24 3vuvis FIF, o weafsig O 6. il 5 O Glowufsig »id O €l F, ds
x-oal e o 2 Ol Fds x-2e-il 2ol [Ral ©. @Rl 5 O uial a2 adl 244 x-28 dol
L y-Ha 9. HIRL S F ol A (— ¢, 0) 2 del F, (¢, 0) Mol (>ugld 11.27).

Q1L 5 P(x, ¥) 2 Guady U idd g (big . dell P i i
AU{lel iR+l AU 2a A,

4, PF, + PF, = 2a. (D)

N
e

2id2 Yol Gualol s, €l P&y

Jax+0)? +y7 + Jx—0)+y* = 2a A B
F,(-¢,0) O Fy(c, 0
Mlgﬂ., ,(X+C)2+y2 = 2q— ,(X— C)2+y2 1(=¢0) ,(c, 0)

Y ~ ¢ . D
6iL 6oL A9l s, v

2 42— A2 2 2 242 wa
(x+ P +y*=4a—da \/(x —c)* + y* + (x —c)* + y* HaL. 2usld 11.27

. . C
UE 3U AL, (- )+’ =a—x
a
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oil ol1og 49l 53, ALE 3 2l

2
y
t 7

=1 (4l 2 = a* - b?)
a b

214, Buady us stdus [big

2 2

+ % =1« A 529, . (2)

212, Gl 0 <c < a3 P (x, y) als8L (2) 4 A 52 Sl dl

QN| =

2 =2 1 xz
yo = 612

- PF, = \/(x+c)2+y2
2 _ 2
a — X
= \/(x+ o)+ b* —
a
az—xz
= |x+0)’+@*=c? 5 b’=d*- 3
a
CcX 2 C
= a+— | =a+—x (M<ada 0<c<a gawl)
a a
N\ N\ C N
d%dd, PF, _a-——x (|f]<ad 0<e<a glawel)
a
~ C C 3
ddl PF,+PF, = a+—x+a-—x=2a .. (3)
a a
R
2], %l Guadad siduel bg — + =1 A A dl o ollas e weL AN 8 2 ddl P(x, y)
a

Guady U2 €.
24, AU (2) 24 (3)uel A 54 3 % Guadu- bws Goiubiy €l 2 Ut HaL x-28 UR S ddl

2 2
. X N
Guada-d unlBld A5 — + % =19,
a

221 : GuR A0dd Guaad-l Alsl Ul 3 dRRL HA B 5 Guadd u-L 51 vl Big P (x, y) 42,

2 2
s M

a’ b?

~

<1, Q;{ZC:L, <A ddl-a< x< a

N ~

12| GUAEY JWUDI x = — g 2 x = @ il 422 A D Vi A A UL ULl 9, d % Id Guady vl

NN A AN ~

y=—buAy=>~-il 42 & i d JvivAlA W 9,
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2 2
Y 2 R Y R X N N
Lo Ad, 2l 2usld 11.26 (b) Ml sldd Guaau- a5 ?+y—2 =1 oL Hadl asla.
a

NN

L 6L AHLSWUA GuaadAL WHLIBLA AHLs0LL 58 9.

e

14| Guadudl uuilRid #3500 Buaddg S Glawilbig 2ia UL &l i JLRL A8 UIHLEL UR

], ¥ Sen Gorulole Ratd 516 Big Gla A Srguizl U2 Adl vl UL A8 24 OllRL 218

= =4

2 OLEL 28 UL S dol Sl Hal Gudddsil AU d L Y sl [Auddg-l oz 9.

gl 11.26 ui ealdet Guaausl waildid w-lsaeil 2deis uel v 12 ealda edis
dl2BlL M9l
1. Guae ol 28l Ul ABLcl 9, 51281 5 oL 5185 (Mg (x, y) Guded u S, dl [Blgtl (=, ¥), (x,—)
el (=x, =) UBL GuAeE U 69,
2. Guadd-l AUGAL SHAL YU 18 U Sld 9. &L URAL id:vigl uel UHL 28l As5l uS

A5 9. ed 5 %l x? Al AoRLsHL Dol Aval HIEL €A, dl UHIA e x -2 U 9 A A )2 -l

AILRLsHL 9e-{l Aral HIEL Sl dl UHIA 8 y-2Hel U 9.

11.5.5 -ulMdol
UAL 6 0 Gyaad siSUS AldHiE] AR Al B g Guadd YR Sld dql X4l 2E dol JuIvis

Guaa-l ultdo 58 . (pusla 11.28.)

2 2

x N N ~\ A\
Guaay —2+z—2=1 AL ulereorl cets el
a

WL 5 AF, il dous 76,

dALA LA™ (¢, 1), 212d & (ae, [) 24l

2 2
. X -
(6lg, A Guaay —2+%=1 U2 dlael,
a
2 2
%+%=1 w, Aot
2usla 11.28
L P=02(1-¢Y)
I{id‘ ez—i——az_bz—l ﬁ
S a2 a2 a2
b4 N\ NN b2
A P=— . 22d % [=—
a a

gd, Guadd -8 Ul AMd 9. (WALR dl d ol el U AR 9.)
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. .- . . 2b
ddl, AF,=F,B i d¢l -uldidordl deits — aal.
a

2 2

X 2 o S . A . S ~
BeleaL 9 : Guagy > + % =1 W ot x, [RRUGEL, wa el dows, ateL el doitsS, Gosmdl st

Alldeor] desS doal.

Bia @ Al x—2 Ui 9 »l y—2 Yl 98 $cll M2l Slayl Ut 28 x-218 GUR €9, ¢d, LA A5 x—2+y—2 =1
25 9 20 p?
a

ALY AL, g =524 b =3 HOL.

Cl“ﬂ,c=\/a2—b2= 25-9=4

aell, AL A3(— 4,0) 24 (4,0) A9 [RRAUGIEA(— 5, 0) 2 (5, 0) 2. Ue -l ol 10 AsH i
2% 18

A R N oD ~ ~ b 4 ~ ~N . .
ol il dolls 25 2ed 6 wisH A, Gedradl 5 s Allatedol dons —= 5
a

BelgRaL 10 : Guadd 9x2 + 4p2= 36 Wiz el wx, [RRUGIE, na el doilsS, dllel Hasdl dons 2
Bebeadl AL

Bie e Buady-l AHlsRA IR AH]50UAL 3UHL dvidl,

IR

2
+2 =1
9

3 y2 <N xz <N sooN AN ~ ~ ~
2l ? Hl 9% I Hi 898 sl HIel glenel wal- A8 y-u1é CUERIREN DI PRI

[\

X y2 ~ . N
—+==1, 018 vddl b =2 2 a = 3.
a

quil, c=Ja*-b* = -4=45

S

22, UL (0, 4/5) 241 (0, —+/5) 29, RRUGIESA (0, 3) 2 (0, —3) 2, UHL vHa-] dousS 6 253,
a . N ~ N \/g ~
ollel Meteil collsS 4 254 vt Guadu-il Gesradl Y Yl

Gelgel 11 @ %l WAL (+ 5, 0) ¢ld 2 [RGB (£ 13, 0) lu dal Guadu axHlsel Hadl.

2 2
3 3 N = ~ . X ~ N N
Bse : ], RAGIEI x-28 U leuel Guaard uls —2+§=1 29l 2] 218 Ut el dons g ual.
a

2l =13, ¢ =52ud 9.
adl, 2= a?— b2 Aol ul, 25 =169 — b2 1Ol

- b=12

2 2
1M, Hidle Gudaus] wlsae ——+ 2 =1,
~ 169 144
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GELSLL 12 : %=l WHL 2Aat-l dolls) 20 €l 24 UM (0, £ 5) €ld ddl Guadu- ux{lsa Hadl,

2 2
3 oY ~ N . X ~
G5 2], AR -8 U Eldiel Ul 248 y-21a GUR 8. e, Gudaas] A5l 7 + y—2=1 29l
a

s . 20
a= 4 W A8l dous =7:10

244 2= g%— 2ol wYl, 52=10%2— b2 w4l
- b2=175
. . x2 y2
M, M Guadue AHlsw —+——=1
S 75 100

Gergml 13 ¢ [Bigil (4, 3) 2t (= 1,4) 1zl YA Adl 1A dal el WHl-d 280 x-218 $ld ddl Guadas]
A5 Hadl.

2 2
G5« Guadud wuld wilsem o 4 Y =18, 4], Bigdil (4, 3) 317 (-1, 4) Guaad w2 sidal 8.
a b
3 16 9
all, A A (D)
a’ b2
2,{:[ L + i =1 2
a 2 b 2 e ( )
~ ~ . 247 . 247 .
5201 (1) 247 (2) G3adi, a” === b2 ST
dell Hidld Guada s,
x2 y2
= N a 2+ 2_ )
A7 +E 1, ¥ed Tx=+ 15y-=247
7 15

A8 o [Blglinl q1m uRedl Ul el Assl 4 1 8, d udl-l %32 el %L WAl HEL -8 O dd 5&) 1A dl

2 2
2 247 . o .. X
Z_2+y_2=1 uzaﬂb=? Ha, % vl uReny 8.
a

uad 1 gl 9 |l Ube Guady HI2 Alldiel W, [RRUGEYL dal Wl 2180 dal ollel el dotls, Gcdwsdl i

Mot deits L

)C2 y2 x2 y2 )C2 y2
1. —+=—=1 2. —+—=1 3. —+—=1
36 16 4 25 16 9
2 2 2 2 2 2
4. x_+y_:1 5, x_+y_:] 6. x_+y_:1
25 100 49 36 100 400

7. 36x2+4y?=144 8. 16x2+y2=16 9. 4x+9y>=36
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L2l el 10 2l 20 HL 20U ARl AHEIA Sl UAS Budad- w581 Ml

10. RRUGIEXL (£ 5, 0), U0 (+ 4, 0)

11. [RGB (0, £ 13), G211 (0, + 5)

12. RRUGIEHL (£ 6, 0), U1 (+ 4, 0)

13, uslL el il (3, 0), oL el AQcabigil (0, +2)

14, Weled et 2icilBigll (0, /5 ), 2oL et vicifbigil (1, 0)
15. s el dots 26, Ml (£ 5, 0)

16. 208l el doitsS 16, AALMAL (0, £ 6).

17. el (£3,0), a=4

18. h=3, c=4, 5% GQlorulig dal UMl x-H8 U €ld.

19. %vs G, Wald e p-218 U S1d 2 [Bigll (3, 2) 24 (1, 6) izl uuR A,
20. UL A8 x-218 U 1 2 gl (4, 3) 2R (6, 2) izl uAR WA,

11.6 »ldaau

vl 7 ¢ slaqad vied dydaH] ¥ o [ gl

2{0lg A8l >

iRl (R dFi1aa AAN S Al A [Gig i1l AL, P,

cqlvyidl qudd  dslad  uedl e ,

g2l [Bigdll idR - As-l [Bleal id. 2 6l MBid

U™ F'1

~
Bigali ldaddn At s& . Al sl

uvigel Heubign wldaday s sdau. Udinidl [alBi

AR adl i Aqea e v sl war adl & v <\

oy M&L';l ij,b“'j btgfw \?)té?t Sé,clll{.'%tﬁ-l‘clet‘z{ P,F,— P,F,=P,F,— P,F,= P,F,— P,F,
woy vad ¥ Blepinl 98 d sldagyqi [aRil60g
X R 2u5ld 11.29
sy, (g0 sl 11.29)
2UBL ol AL d22hAl 2id 2¢ a8, ol [RGB a2l 2ide (ea ma-l dolls) 2a 4 21

b b = [c?—a®ad cvalid s adl, 2b Holg va-dl dous ©. (gt 11.30.)

2§20 P F, - P F, allddl :

sl 11.30 4 (Big P i4sH A 2 B 21010 ddl, X
e Aldaedl el vl a_.
5 < N2> Jot Y s
BF, — BF,= AF,— AF, #0l. (lcaaul cauval uzgl) X Ak X
BA +AF - BF,= AB + BF - AF,
c v
Q)l%lld& AFl = BF2 Y’

21, BF, — BF,= BA + AF — BF, = BA =24 2u5ld 11.30
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11.6.1 Gedrgdl

B N\ C Y b o b}
cuival 8§ : Guadad-l ¥4 o oQld2 e = — - 2ldadud Gessidl 56 8. ¢ > a slaudl, lAaad-] Gsal 1 &l i
a

Ul L. Gesvsdlol AL, AUCl Srzell 2idR ae ¥ed €14,

1162 daquy uHidd alsw:

ey Alal w0 w3lswL 2D S GLBMGIE 2 AUMPAL x- 18l AL Y- 218 U Gl AR UL,

ol asd sl 2usld 1131 4 ealda 9.

Y
N
/< ° O - ~ X
(=¢,0) J(=a,0) | (a,0)\(c,0) ~
A4
YV
a2 b2

2usd 1131

Y
N
(0, a)
X'<€ o) >X
(0] (0,—0)
(b) v

Y/

2 2
Yy _x
a b

Rl sl 11.31(a) 5 B UM x-18 U2 8, dell 2laaaud Alsa Hodly,

=1

4R 5 AN F) 249 Fy 6 dal FiFyd olsdl 2euvise Helbig O 6 dal Grilbi O i F, Higl v adl

Wil x-otaAl Azl O 2 F) wigl waur adl v, x-2ia-l e [ ©. O sigl vz adl x-2ad dolv

y-ula 9. HIRL 5 F) Al A (- ,0) 2 Fy ol 4 (6,0) 8. (ugla 11.32.)

QL5 P(x, y) wAladdy uas st uel [Big 8, 5 el
P2l AUlGAl £2-1L A 4951l 2Rl dsldd 2a Fedl AL,

-~

el e § 5 PF - PF,=2a.

2id2 AoA-il Budlol s,

\/(x+c)2+y2 —\/(x—c)2+y2=2a

MUl () + y2 =2a++(x — ) + y?

ol 6119 <9l S,

x=—a
=<

/“ P(x, y)

& o
F, (-¢c,0)

(x+ef +)y=4d+4a Jx-c)*+y* +(x—c)P+)?

ALEIU LML, 2Rl

cx .
— —a= ,[(x—c)2+y2 HAl.

a

v
Y’

> N
F,(c.0) ~ %

v

250d 11.32
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532 ol 530 UIE 3U MU,

2 2
e
a c —a
2 2
¢ XY 2 _ 2= p2
AL ——-5=1 (cc—a*=b%)
d’\ (12 b2
22
2tefl, ildddd u siduat Big —2—?=1 WERILTEREERS
a

2019l, Glag, WL 5 0 < a <c U2 P(x, y) Guail A5, AHIAIA 52 8,

XZ—LIZ
219, y2=b2[ p) j

a
PFI - \/(x+c)2+ y2

22
X —a C C SN
=\/(X+C)2+b2( 3 ]=‘a+—x‘=a+—x sRALSx>a, 0<a<c
a

a a
N c
211 % d, PF,= ‘a— —x’
a
. N ~ 2 ~ c
vlddadul ¢ > a; 2 P 2 x = g, 3wl w4l ouy U glael x > a. 20l — x> a.
a
C ~ Cc
sa— — xBAGA AHPF,= —x —a
a a

c cx
=a+—x—-— +a=2a
a a

112, PF, — PF,

Quil, Al %, %L P 2 vl x = —a <l $16il ol uR 1A dl,
C C
PF, =—|a+—x| PF,=a- —x.
a a

2 2
. X . . . N
2L [4seuni P F,— PF, = 2a. 208l — —% =1 it 53 stduaL [Gig 2ldads ur ¢l
a

2 2
2 G NN T NN N ~ N : X
UM, 2R UG 54 5 B 37 (0, 0) 2L Bl Hod e x-2ia US4 dal vldacus] adlse 5 - Z—z =1y,
a

| ¥ Aladuil g = b Y, A vQaad qolddd sea.

2

c NN N N . A X )72
220 ildaddnl Hadd w4:{lsR uel s€l asi 5, viladay U udls (Glg (x, y) He, — =1+? > 1.
a
X
—| >1,
a

o x<—a dYdlx = a.

212, el S5 oL AL x =+ @ A x = — @ 42 42l (Aald, Hrlolg e U A ARy vidnis 2l.)

2 2
Y

2 % 2Ad, 20U 2sld 1131 (b) uedl —5——5 =1 Aadl asl.
a

S+
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Bl 6 AHLEWA 2AldaEUAl WHIRIA AHL5WIL sSald.,

@8 [Pltaadinl wniRid AH150041 oLl S A LU 28 AL Aol ViaL, AL U S1U B,

A 5 SISURL 6 UM OB A EL e 2edolg el Gld ddl uRl Alddddl wAsA 9. d-il

oA B2 HIRNHE 5319,

slctaauni wulBad A5l (sl 11.29) uredl, siupid laql xadisdl 1a ©:
1. fdddy b Al udl 2Rd 9, ska s o [Blg (v, y) 2ldadd u $id dl, Bigdil (- x, ), (x, —y) 2t
(—x, —p) ugl 2ldded U Sl 9.

2. AL R HuU A8 YR Sl el 4ot elefl Huu e (A el asy ©.

2 2 2 2

Y X . ~\ NN . N 2 X .
BelsBl dils, o —ly—6=1 UL HLU e x-E UR Gl A dsl doud 689, IR ;—5 —£=1=u Huy 8

y-o18 U i 2R Al ol 10 . x2 el AaRLs et G1d 3 y2ell USRS tel Gl A AR Y-8 You 8L
ol -8 HUA SR D,

11.6.3 -Wltd o

VUL 9 ultrnig] yAIR Adl Yvd HE ol A Gl AAEA 2ldadd uR ¢l ddl uks ultide 8,

2

9 b)Y M b} N . 2b b

Guaed-l 4 2 sdlaq 40 &9 5 -ulciaoril dousd —— €.
a

Gergil 14 : 2l »ldaadl die AlMl, [RGB, Bbmsdl 2 Auldidoi-] dows Hadl.

2 2

(i)%—ly—6:1 (i) )2 — 16x2= 16
S . x2 y2 N x2 )’2 > :
B4 : (i) ?—Eﬂ L WISl axlsil —2—?=1 A8 A,
a

a=3,b=43c=1+Ja’+b>=9+16=5

U], ARAAL A3 (£ 5, 0) 2t QRGBS (+ 3, 0) .

Ry c 5 o 2% 32
aull, Gesvadl e = —== . AlMeoidl dou =—="*=
a 3 a 3
. R
(i) A+15014. 16 43 MIdLdl, e T =1 na.
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